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V.   EQUITY FINANCING
a private company must seek sources for growing business but the infusion of outside capital affects the control of the company

equity capital = a source of funding which establishes ownership and managerial claims on the company

preferred stock = stock with preferential dividend, senior claim on the assets of the firm and sometimes special voting rights (often with option to convert into common stock on some future date)

common stock = stock with all future rights and benefits given to ordinary shareholders  
1. Sources of funding 
i) angel investor
individual investors who buy equity in small private firms (friends or acquaintances of the entrepreneur)

in return for their funds angels typically receive a sizeable equity share (substantial influence in the business decisions of the firm

finding angels is difficult

	
	Number of shares
	Ownership stake

	Founder
	1 500 000
	75 %

	Angel
	500 000
	25 %


ii) venture capital
venture capitalists = firms specialised in raising money to invest in the private equity of young firms

venture capitalists typically represent a large voting block on the board to protect their risky investment 

venture capitalists usually charge substantial price (e.g. a high percentage of any positive return and an annual fee linked to the committed capital)

a start-up firm may benefit from the expertise of the venture capitalists

	
	Number of shares
	Ownership stake

	Founder
	1 500 000
	30 %

	Angel
	500 000
	10 %

	Venture capitalist
	3 000 000
	60 %


iii) institutional investors
pension funds, insurance companies, endowments, foundations

they may invest directly in private firms or they may invest indirectly by becoming partners in venture capitalist firms

iv) corporate investors
other names are strategic partner/investor

they might invest for corporate strategic objectives in addition to investment returns

2. Initial public offering (IPO)
IPO is the process of selling stock to the public for the first time

going public

advantages: - public companies typically have access to much larger amount of capital

 - investors can diversify equity holdings

disadvantages: - ownership of the corporation becomes more widely dispersed that undermines investors’s ability to monitor the company’s management
- compliance with legal requirements of public companies is costly

types of offering
primary offering = the shares that are sold in the IPO are new shares that raise new capital

secondary offering = the shares that are offered are shares of current shareholders as part of their exit strategy 

mechanics of an IPO 
underwriter = financial firm responsible for managing the deal 

lead underwriter = provides most of the advice and arranges the syndicate to help market and sell the issue; actively participates in determining the offer price (active use of different valuation techniques)

registration statement = legal document that discloses financial and other information about the company to investors (it must be approved by regulatory authority)

prospectus (red herring) = part of registration statement which is circulated to investors before the stock is offered

road show = senior managers and lead underwriter travel around the country promoting the company

book-building = processing the obtained information about the interest of potential customers regarding the appropriate price and appropriate quantity of shares (price discovery); the process should come up with the offer price based on customer’s expression of interest  
3. Determination of the offer price

  a) best effort basis
the underwriter tries to sell the stock for the best possible price without the guarantee that the stock will be sold

all-or-none clause means that either all of the shares are sold or the deal is called off

b) firm commitment 

the underwriter guarantees that it will sell all of the stock at the offer price

it bears the risk that the entire issue does not sell out
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offer price = $12.5 per share

fee = 7 %

underwriter pays to the issuer = 12.5 × (1 – 0.07) = $11.625 per share
underwriter’s protection against the loss

intentional underpricing (lower offer price vis-à-vis the information discovered during the book-building)
greenshoe provision (over-allotment) = the underwriter is allowed to issue more stock (by a certain percentage of the original offer size) at the IPO offer price

♦
Initial IPO size = 3 million shares; greenshoe provision = 450 000 shares; offer price = $12.5 per share; underwriter’s fee = 7 % of offer price = $0.875 per share.

Underwriter markets all 3.45 million shares.

i) issue is a success ( underwriter generates additional profit 
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ii) issue is not a success ( underwriter buys back the over-allotment shares and by doing that it supports the offer price 

♦
c) auctioned IPO
   investors place bids over a set period of time, the IPO price is then determined as the highest price at which and above the number of bids equal the number of offered shares

♦

Price


Number of shares

Cumulative demand

8.00



 25000



 25000


7.75



100000


125000


7.50



 75000



200000


7.25



150000


350000


7.00



150000


500000   = offer size


6.75



275000


775000


6.50



125000


900000

♦
all investors who placed bids of at lest $7.00 per share will be able to buy the stock for this price (even if their initial bid was higher)
if total demand at winning price is greater than supply, shares will be sold on a pro rata basis to bidders who bid exactly the winning price  

auctioned IPO saves the book-building costs which are required by the need to determine the offer price

a lack of price discovery may result in inaccurate pricing and poor after market performance

underpricing puzzle
puzzle:

according to empirical evidence the price at the end of trading on the first day is often substantially higher than the IPO price

the shareholders of the issuing firms bear the cost because the stock in their firm is sold for less than they could get in the after market

explanation:

underwriters control the market and they use underpricing as a protection against losses (but the underwriting industry appears to be highly competitive)

winner’s curse effect 
an IPO goes well (the deal is oversubscribed) ( allocation of shares for each investor is rationed (winner’s profit is small)

an IPO goes poorly (the deal is undersubscribed) ( bidders will get the full amount (winner’s loss is high) 
losses are not offset by extraordinary profits that prevents to exploit arbitrage opportunities from systemic underpricing
4. Seasoned equity offering (SEO)
SEO is a repeated comeback to the equity markets through which new shares are offered for sales
primary shares = new shares issued by the company

secondary shares = shares sold by existing shareholders (including the company’s founders)
cash offer = the firm offers the new shares to investors at large

rights offer = the firm offers the new shares to existing shareholders (privileged subscription)
♦
A company has a value $1 billion and 100 million shares outstanding. The current share price is $10. The company needs to raise $200 milion in a rights issue. Each existing shareholder is sent one right for every share he owns. The firm explores two strategies:
a) 4 rights to purchase 1 new share
number of new shares = 100 : 4 = 25 million

issue price = 200 : 25 = $8

new share price = (1000 + 200) : 125 = $9.6

capital loss per four old shares = 4 × (10 – 9.6) = $1.6 

capital gain per one new share = (9.6 – 8) = $1.6
b) 5 rights to purchase 2 new shares
number of new shares = (100 : 5) × 2 = 40 million

issue price = 200 : 40 = $5

new share price = (1000 + 200) : 140 = $8.57

capital loss per five old shares = 5 × (10 – 8.57) = $7.14 

capital gain per two new shares = 2 × (8.57 – 5) = $7.14
♦
the design of rights offer is irrelevant for shareholder’s wealth because capital gains and losses offset themselves

with cash offer current shareholders may incur a capital loss on existing shares while capital gains on new shares are captured by new shareholders

VI.   DEBT FINANCING 
key differences between equity and debt

	
	Equity
	Debt

	Income
	Dividends
	Interest

	Tax status
	Taxed as personal income. Are not deductible item.
	Taxed as personal income. Are cost deductible item.

	Control
	Common stock usually have voting rights
	Control is exercised with loan agreement/indenture.

	Default
	Firms cannot become bankrupt for non-payment of dividends.
	Unpaid debt is liability. Nonpayment results in bankruptcy.


1. Main features of corporate debt
classification by ownership
public debt = corporate bonds issues to the general public that is traded on open market

prospectus = a document that describes the details of the offering
indenture = a formal contract between the bond issuer and the trust company that represents the bondholders and makes sure that the terms of the bond contract are encored




private debt = debt that is not publicly traded

term loan = a bank loan that lasts for a specific term

syndicated loan = a single loan that is funded by a group of banks rather than just a single bank

revolving credit = credit commitment for a specific time up to some limit which a company can use as needed

private placement = a bond issue that does not trade on a public market but is rather sold to a small group of investors; it can be tailored to the particular situation

classification by security 

unsecured debt = in the event of bankruptcy bondholders have a claim to only the assets of the firm that are not already pledged as collateral on other debt

debenture = long-term unsecured debt

notes = debt with shorter maturities

secured debt = specific assets are pledged as collateral that bondholders have a direct claim in the event of bankruptcy

mortgage bonds = bonds secured by real property

asset-backed bonds = any kind of debt security

classification by seniority
senior debt = debt with a higher priority claim in the event of bankruptcy

junior debt = debt with a lower priority claim in the event of bankruptcy

subordinated debt = a new debt that is issued with lower priority than the outstanding debt

classification by residency of bondholders

domestic bond = a bond issued by a local entity, traded in a local market, denominated in the local currency and purchased also by foreigners

foreign bond = a bond issued by a foreign company in a local market, denominated in the local currency and intended for local investors

Eurobond = an international bond that is not denominated in the local currency of the country in which it is issued; the trading of these bonds are no subject to any particular national regulation
classification by rating
the rating is a measure of creditworthiness of the bond produced by specialised companies (Standard & Poor’s, Moody’s) 

the rating depends on the risk of default as well as on the bondholder’s ability to lay claim to the firm’s assets in the event of such default  
investment-grade bonds = bonds with low risk of default
Standard & Poor’s (AAA, AA, A, BBB), Moody’s (Aaa, Aa, A, Baa)

speculative bonds (junk bonds, high-yield bonds) = bonds with high likelihood of default
Standard & Poor’s (BB, B, CCC, CC, C, D), Moody’s (Ba, B, Caa, Ca, C)
classification by the appearance
bearer bond = the bond is owned by whoever physically holds the bond certificate; to receive a coupon payment the holder provides proof of ownership by clipping a coupon off the bond

 registered bond = the issuer maintains a list of all holders of its bonds; it mus be informed of any changes in ownership; these bonds facilitate tax collection

bond covenants
restrictive clauses in a bond contract that limit the issuer from taking actions that may undercut its ability to repay the bond 
if the issuer fails to live up to any covenant, the bond goes into default

examples

- restriction to pay dividend or redeem stock

- restriction to further indebtedness

- requirements to maintain a minimum amount of working capital

- restriction to transfer or sell specific assets

- requirements to repurchase the bond in case of a change in the control over the firm

- restrictions on mergers and consolidation

the stronger the covenants, the less likely the issuer will default on the bond, so the lower the interest rate investors will require to buy the bond

2. Repayment provision

a standard way of repaying the bond is to make coupon and principal payments as specified in the bond contract

a) call provision
a call feature gives the issuer of the bond the right (not the obligation) to retire all or partial outstanding bonds on or after a specific date (the call date) of the specific price (the call price)

call price is expressed as a percentage of the bond’s face value (e.g. 104.38 %)

price of callable bond on the call date 

when market yields are high, the call provision will not be exercised (it is cheaper to retire the bond by repurchasing it in the open market); prices of otherwise identical callable and non-callable bonds are equal on the call date

when market yields are low, the call provision will be exercised (it is convenient to retire the bond and to replace it at a lower borrowing cost); the price of a callable bond does not rise above the call price 
price of callable bond before the call date


when market yields are high, investors anticipate that the likelihood of exercising the call provision is low and the bond price is similar to an otherwise identical non-callable bond

 when market yields are low, investors anticipate that the bond will be likely to call and the bond price is similar to an otherwise identical non-callable bond that matures on the call date

b) sinking fund
instead of repaying the entire principal balance on the maturity date, the company makes regular payments into a fund (administered by a trustee) over the life of the bond

these payments are then used to repurchase bonds

various repurchase schemes:

- equal payments into the fund over the life of the bond and retiring the issue on the maturity day of the bond

- payments into the fund are not sufficient and the company makes a large payments on the maturity day (balloon payment)

- gradual repurchases from the cash accumulated in the fund (in the open market or selecting the bonds by lottery)

c) convertible provision

convertible bond = the bondholder has the option to convert the bond into a fixed number of shares of common stock at a ratio called the conversion ratio
such a bond can be thought of as a regular bond plus a special type of call option called a warrant

on the maturity day the bond holder can

a) receive the payment of the face value (e.g. $1000)

b) accept instead a certain number of shares that correspond to the conversion ration (e.g. 15)
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 conversion price > market price ( the bondholder will not choose to convert

  conversion price < market price ( the bondholder will exercise the warrant

price of convertible bond prior to maturity
call option vs. warrant
regular call option is written on existing stock while warrant is a call option written by the company itself on new stock (company delivers the stock by issuing new shares) 
VII.   LEASING
1. Lease transactions
a lease is a contract between two parties: the lessee and the lessor

the lessee is liable for periodic payments in exchange for the right to use the asset

the lessor is the owner of the asset who is entitled to the lease payments in exchange for lending the asset



 

sales-type lease = the lessor is the manufacturer (or a primary dealer) of the asset (IBM computers, Xerox copy machines)

direct lease = the lessor is an independent company that specializes in purchasing assets and leasing them to customers

sale and lease-back = the lessee sells the asset to the lessor and then makes lease payments to retain the use of the asset

leveraged lease = the lessor borrows from a bank or other lender to obtain the initial capital for the purchase of the asset; leasing payments are used to pay interest and principal on the loan

operating vs. capital (finance) lease
operating lease is viewed as a rental for accounting purposes

from the lessee point of view the lease is the off-balance sheet transaction disclosed in the footnotes of the financial statement (the lessee does not incur depreciation expenses and does not report the asset on the balance sheet)
in case of bankruptcy the lessor retains ownership rights over the asset; the firm may reject the lease and the asset must be returned to the lessor
capital lease is view as an acquisition for accounting purposes

the lease increases the apparent leverage on the firm’s balance sheet (the lessee incurs depreciation expenses and reports the asset and lease payment liability on the balance sheet)

in case of bankruptcy the firm is assumed to have effective ownership of the asset that is protected against seizure; the lessor is treated as any other secured creditor and must await the firm’s reorganisation or ultimate liquidation

conditions for the capital lease:

- title to the property transfers to the lessee at the end of the lease term

- the lease contains an option to purchase the asset at a bargain price

- the lease term is 75 % or more of the estimated economic life of the asset

- the present value of the lease payments at the start of the lease is 90 % or more of the asset’s fair market value

end-of term lease options:

- fair market value lease: the lessee has the option to purchase the asset at its fair market value (evaluation may be complicated)

- one dollar out lease: ownership of the asset transfers to the lessee at the end of the lease at a bargain price (the lessee has effectively purchased the asset by making the lease payments)

- fixed price lease: the lessee has the option to purchase the asset at the end of the lease for a fixed price (the option will be exercised if the market value of the asset exceeds the fixed price)

2. Reasons for leasing
tax differences: a tax gain occurs if the lease shifts the valuable tax deductions (depreciation, leasing payments) to the party with the higher tax rate

reduced resale cost: it may be less costly to lease the asset than to buy it and sell it (particularly when the asset like a car is used for a short time); lessors are often specialised on finding a new user

efficiency gains from specialisation: lessor may have advantage in maintaining or operating certain types of asserts (e.g. a truck with a driver)

hold-up problem = a firm becomes dependent on the provider of an asset if the value of the asset depends upon additional services

reduced distress costs: assets under operating lease are not afforded bankruptcy protection that increases debt capacity of a firm

improved incentives: lease provides the manufacturer and the lessor of the asset an incentive to produce a high-quality, durable product that will retain its value over time

avoiding capital expenditure control: companies may place limits on amounts a manager an invest over a certain period while lease payments may fall  below this limits; by leasing the manager avoids having to make a special request for funds

preserving capital: leasing requires no down payment so it can save cash to use for other needs; but “borrow and buy” option may be cheaper

off-balancing financing: a firm can avoid listing the long-term lease as a liability; this practice increases the actual leverage without increasing the debt-to-equity ratio (lease commitments does not cease to exist and have the same effect as other forms of leverage)

3. Irrelevance of leasing transactions

in a perfect market the present value of all transactions between the two parties of a contract must be zero

a) in a perfect market the cost of leasing is equivalent to the cost of purchasing and reselling the asset

the cash flow of a lease contract from the lessor’s point of view
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PV (lease payments) = purchase price – PV (selling price)

♦
The purchase price of the asset is $20000, its residual value in four years is certain to be $6000. There is no risk that the lessee will default on the lease, risk-free interest rate is 6 % per annum. What would be the monthly lease payment for four-year lease?
monthly interest rate = 6 : 12 = 0.5 %

number of periods = 12 × 4 = 48 months

PV (selling price) = 
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PV (lease payments) = 20000 – 4722.59 = $15277.41

monthly lease payment L can be found from the annuity formula
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♦
b) in a perfect market the cost of leasing is equivalent to the cost of borrowing to purchase the asset

the cash flow of a lease contract from the lessor’s point of view


[image: image7.wmf]å

å

-

=

=

=

+

+

+

-

+

-

+

+

-

1

0

1

0

)

1

(

)

1

(

)

1

(

)

1

(

T

t

T

t

T

T

t

t

r

S

r

M

r

rM

r

L

P

M


PV (lease payments) = 
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4. Leasing decision
the leasing decision whether to buy or lease an asset should take into account the tax consequences and cost of financial distress
- depreciation tax shield - depreciation is a cost deductible item that is lost when the asset is leased (in operating lease)  

- lease payments can be classified as an operating expense that saves income tax when the asset is leased

- lease contract (in contrast to buying the asset) effectively increases the leverage and thus makes more likely the financial distress

♦
An asset can be purchased for $50000 in cash. Its life expectancy is five years and can be depreciated for tax purposes using straight-line depreciation over that period. The asset will have no residual value after five years. The firm pays a corporate tax 35 %. Alternatively the firm may lease the asset, a five year lease contract will cost $12500 per year. The firm borrowing rate is 8 %. 

	Year
	0
	1
	2
	3
	4
	5

	
	BUYING THE ASSET

	Capital expenditure
	-50000
	
	
	
	
	

	Depreciation tax shield
	
	3500
	3500
	3500
	3500
	3500

	Free cash flow
	-50000
	3500
	3500
	3500
	3500
	3500

	
	LEASING THE ASSET

	Lease payments
	-12500
	-12500
	-12500
	-12500
	-12500
	

	Tax savings
	4375
	4375
	4375
	4375
	4375
	

	Free cash flow
	-8125
	-8125
	-8125
	-8125
	-8125
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both cash flows can be discounted at the firm’s borrowing rate
- a lease is similar to the loan secured by the leased asset as collateral

- tax savings from depreciation and lease payments will be realized as long as the firm generates positive income

the option to lease appears cheaper, but the calculation ignores an important fact that leasing increases the firm’s exposure to the costs of financial distress while the option to buy does not

leasing should be rather compared to the borrowing that matches the leverage of the lease
lease-equivalent loan

lease-implied loan (LIL) = the loan that imitates the alternative “leasing instead of buying”; this strategy starts with initial saving of cash (analogy with borrowing) and follows with regular instalments (analogy with to repayment of debt)

	Year
	0
	1
	2
	3
	4
	5

	CF from lease
	-8125
	-8125
	-8125
	-8125
	-8125
	

	CF from buy
	-50000
	3500
	3500
	3500
	3500
	3500

	CF from LIL (lease–buy)  
	41875
	-11625
	-11625
	-11625
	-11625
	-3500


implied after-tax lease borrowing rate = the internal rate of return applied to the lease-implied loan 
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the lease is equivalent to borrowing at an after tax rate of 7 % 

effective after-tax borrowing rate = 8 % × (1 – 0.35) = 5.2 %

the option to lease that implies borrowing cost of 7 % does not appear attractive compared to the actual after tax borrowing cost of only 5.2 %
lease-equivalent loan (LEL) = the loan that is needed for purchasing the asset that leaves the user of the leased asset with the same obligation as the lessee would have

 (CF from LEL) + PV (CF from buy) = PV (CF from lease)

PV (CF from LEL) = PV (CF from lease) – PV (CF from buy)
	Year
	0
	1
	2
	3
	4
	5

	CF from LIL (lease–buy)
	41875
	-11625
	-11625
	-11625
	-11625
	-3500

	CF from LEL
	???
	-11625
	-11625
	-11625
	-11625
	-3500


initial balance of LEL = 
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LEL(0) = $43747 > $41875 = LIL(0)

another confirmation that leasing is not attractive option relative to borrow and buy alternative

cost savings from lease the asset instead of buy it = $41875
cost savings from borrowing and buying the asset = $43747
reconstruction of the cash flow from borrowing the LEL and buying the asset
1. Investor borrows the $43747 (initial balance of LEL) and buys the asset for $50000. This operation requires initial outlay of cash $6253.
2. In the next year the borrowing results in an interest payment $3500 and generates savings from tax shield $1125.
3. In the next year the ownership of the asset generates the depreciation tax shield $3500. 

4. In the next year the investor repays a part of the LEL principal. He chooses the following strategy:

repayment of the loan = tax shields + lease obligation – interest payment

= 1225 + 3500 + 8125 – 3500 = $9350

5. After the repayment the loan balance is 43747 – 9350 = $34397

6. The same sequence of steps applies to all further years. 

	Year
	
	0
	1
	2
	3
	4
	5

	Balance of LEL
	
	43747
	34397
	24561
	14213
	3327
	

	Borrowing/Repayment
	
	43747
	-9350
	-9836
	-10348
	-10886
	-3327

	Interest (8 %)
	
	
	-3500
	-2752
	-1965
	-1137
	-266

	Tax shield (35 %)
	
	
	1225
	963
	688
	398
	93

	CF of buying the asset 
	
	-50000
	3500
	3500
	3500
	3500
	3500

	Lease obligations
	
	-6253
	-8125
	-8125
	-8125
	-8125
	


the repayment strategy shows that borrowing to buy the asset is cheaper than leasing the asset

while the LEL matches all future obligation of the lease it requires lower financing at the outset ($6253 versus $8125) 
VIII.   SHORT-TERM FINANCING

1. Net working capital
net working capital is the capital required in the sort term to run the business on a day-to-day basis

net working capital = current assets – current liabilities

current assets = current assets are cash or assets that could be converted into cash within one year

cash = standard means of payments (banknotes and coins, balances on a bank’s current account)

cash does not include excess cash that is not required to run the business and can be invested at a market rate (it can be seen as part of capital structure offsetting firm’s debt)
marketable securities = short-term, low-risk investments that can be easily sold and converted to cash

accounts receivable = the amounts owed to the firm by customers who have purchased goods or services on credit

inventories = raw-materials, work-in-progress and finished goods

current liabilities = liabilities that will have to be satisfied within one year

accounts payable = the amounts owed to suppliers for products and services purchased with credit

notes payable = short-term debt and current maturities of long-term debt that has to be repaid within a given year

other = salary, taxes, undelivered products, etc.


 


cash cycle = the length of time between when the firm pays cash to purchase its initial inventory (cash-out time) and when it receives cash from the sale of the output produced from that inventory (cash in time)

operating cycle = the average length of time between when a firm originally purchases its inventory and when it receives the cash back from selling its product; the longer a firm’s cash cycle, the more working capital is needed to conduct daily operations (working capital levels vary significantly among various industries)

float = the technical delay between the payment for the good and actual cash outflow (disbursement float) or between the sale of the good and actual cash inflow (collection float)

float may take a couple of days when payments are made by cheques (cheques have to be mailed, firms need time to process them and deposit them in the bank, bank needs time for debiting and crediting accounts)

float is reduced to minimum in electronic inter-bank payment systems

any reduction in working capital requirements generates a positive cash flow that the firm can distribute to shareholders

2. Trade credit 

a delayed payment for delivered goods effectively means that the firm is extending a credit to its customers

it is simple and convenient instrument with low transaction costs than alternative sources of funds (e.g. no paperwork associated with a bank loan)

flexible source of funds that can be tailored to business relations with a firm’s customers
trade credit terms 

net 30 = payment is not due until 30 days from the date of invoice

2/10, net 30 = the buying firm receives a 2 % discount if it pays for the good within 10 days, otherwise the full amount is due in 30 days

forgoing the discount may be costly 

price of good = 100

by not paying in the end of discount period the customer is effectively extended a loan equal to the discounted price = 100 × (1 – 0 .02) = 98

in the end of trade credit period the customer pays full price 100
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if the firm can obtain a bank loan at a lower interest rate, it would be better off borrowing at the lower rate

borrowing rate = 10 %

borrowed amount = 98

repayment of the loan = 
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net gain = 100 – 98.54 = 1.46

general formula pro EAR
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3. Managing accounts receivable and payable
monitoring accounts receivable 
a firm must analyze whether its credit policy is working effectively or collection policiy needs to be revisited

aging schedule = categorisation of accounts receivable by the number of days they have been on the firm’s book (it can be displayed or in terms of the number of accounts or the dollar amounts) 
	Days outstanding
	Amount outstanding
	Percentage outstanding

	1 – 15
	530000
	33.1

	16 – 30
	450000
	28.1

	31 – 45
	350000
	21.9

	46 – 60
	200000
	12.5

	60 +
	70000
	4.4

	Total
	1600000
	100.0


credit policy = net 30

average daily sales = $65000

accounts receivable days = 1600000 : 65000 = 25 days

according the aging schedule 39 % of receivables are paying later

stretching accounts payable
stretching = unethical practice to pay later than it was agreed in trade credit terms with the aim to reduce the direct cost of trade credit

♦

A firm is given trade credit terms 1/15, net 40. What is the EAR if the firm stretches the account payable to 60 days?
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♦

indirect cost of stretching
- suppliers may react by imposing terms of cash on delivery (COD) or cash before delivery (CBD) and the firm will have to negotiate a bank loan to have cash available to pay 

- suppliers may discontinue business with the delinquency customer

- the firm may obtain a poor credit rating that would prevent it in obtaining good terms with any other suppliers

factoring of accounts receivable

factoring = sale of receivables to a firm that specialises on receivable collection in exchange for the amount due from its customers at the end of the payment period




 


the firm’s customers are usually instructed to make payment directly to the factor

the factor charges a factor’s fee and an interest rate if he buys receivable before a customer pays the bill

with recourse = factor can seek payment from the firm should the firm’s customers default on their bills

without recourse = factor bears the risk of customer default

4. Bank loans
types of loans 
i) single loan = the firm pays interest and pays back the principal in one lump sum at the end of the loan

fixed rate loan = the charge is stipulated at the time the loan is arranged

variable rate loan = the rate will vary with some spread relative to a benchmark rate 

prime rate = the rate offered to the most creditworthy customers

LIBOR, PRIBOR, EUROBOR = rates of interest at which banks borrow funds from each other in the interbank market

ii) line of credit = an agreement in which a bank agrees to lend a firm any amount up to a stated maximum

the firm draws upon the line of credit whenever it chooses

the bank charges an interest rate on borrowed amount and usually a commitment fee on the unused portion of the credit

the outstanding balance must be zero at some point in time to prevent the firm from using the line of credit for long-term financing purposes

uncommitted = an informal agreement that does not legally bind the bank to provide the funds

committed = legally binding agreement that obligates the bank to provide funds

revolving = extended over a larger period of time than one year

evergreen = a revolving line of credit with no fixed maturity  

iii) bridge loan = a short-term bank loan that is used to bridge the gap until a firm can arrange for long-term financing
effective interest rate on a loan
EAR (effective annual rate) takes into account all factors that affect the cost of the loan to the firm

i) commitment fee = an interest rate paid on the unused part of the line of credit

♦

A firm has arranged one year line of credit that allows to use up to $1 million  from which the firm draws $800000. The bank charges regular interest rate 10 % and the commitment fee 0.5 %. 

borrowed amount = $800000

repaid amount = 
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♦
ii) origination fee = an amount paid when the loan is initiated; it effectively reduces the amount of usable proceeds that the firm receives

♦
A three-month loan of $500000 charges 12 % on annual basis. The origination fee is 1 % and is charged on the total principal of the loan. 
available funds = 
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repayment = 
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♦
iii) compensating balance = a firm must hold a certain percentage of the principal of the loan in an account at the bank as compensation for services the bank performs; the compensating account either earns no interest or a very low interest rate
♦
A three-month loan of $500000 charges 12 % on annual basis and requires a compensating balance equal to 10 % of the loan principal. The bank pays 1 % on its compensating balance accounts with quarterly compounding.

available funds = 
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repayment = 
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♦
5. Inventory management
inventory represents a mix of short-term physical assets composed of raw materials, work-in-progress and finished goods

the role of the inventory management is to balance the costs and benefits associated with holding inventory

efficient management of inventory increases firm value by freeing the tied-up capital which can be paid to shareholders
benefits of holding inventory
- inventory helps minimise the risk that the firm will not be able to obtain an input it needs for production that leads to lost sales

- inventory smoothes seasonality in demand that means that customer purchases do not perfectly match the most efficient production cycle

cost of holding inventory  

order cost = are the total costs of placing an order over the period (transport, administrative paperwork, etc.)

carrying cost = are costs incurred by storage, insurance, spoilage, obsolescence and other opportunity costs of the funds tied up in the inventory  

just-in-time inventory management = a firm acquires inventory precisely when need so that its inventory balance is always zero or very close to it

Baumol model
a simple model which demonstrates that minimising the cost of inventory involves some tradeoffs 
S = yearly sales (steady demand for the product)

Q = quantity ordered per one order (new supplies arrive at empty warehouse)

A = average inventory [= Q/2]

N = number of orders per year [N = S/Q]
C = unit carrying costs (cost of capital tied up in one unit of inventory such as warehouse space, insurance, etc.)

TCC = total carrying cost [= C×A = C×(Q/2)] are proportional to the average inventory
O = order costs (fixed administrative and handling expenses per one order) 

TOC = total order costs per year [= O×N = O×(S/Q] 




total costs = 
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optimal quantity per one order (finding local minimum using differentiation with respect to Q): 
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♦
A retailer sells 8000 units of product a year. His carrying costs per one unit are $40 and order costs per one order are $100. What is his optimal inventory policy?

optimal quantity per one order = 
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number of orders per year = 
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♦
inventory as collateral
inventory can be used as collateral for a loan with different risky profile from the standpoint of the lender

floating (general, blanket) lien = all of the inventory is used to secure the loan; value of such collateral dwindles as inventory is sold; loan becomes easily under-collateralised

trust receipt = distinguishable inventory items are held in a trust as security for the loan; as these items are sold the firm remits the proceeds form their sale to the lender in repayment of the loan

warehouse arrangement = the inventory that serves as collateral for the loan is stored in a warehouse; the firm can sell the inventory after receiving permission from the lender

6. Cash management
motives for holding cash
transaction balance: to meet day-to-day financial needs; requirements depend on both the average size of the transactions and the firm’s cash cycle

precautionary balance: to have a buffer against the uncertainty associated with the cash flow; requirements depend on the degree of uncertainty surrounding a firm’s cash flow

compensating balance = to satisfy bank requirements 

money market instruments

short-term securities into which the firm can invest temporarily free cash

they differ with regard to their default risk and liquidity risk

Treasury bills = short-term government debt

certificate of deposit = short-term debt issued by banks

repurchase agreement = the investor buys securities from the dealer with an agreement to sell the securities back to the dealer at a later date for a specified higher price

banker’s acceptance = draft written by the borrower and guaranteed by the bank on which the draft is drawn

commercial paper = short-term unsecured debt issued by large corporations
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